SBEF 100m FETHIALL—X)

iR B

(

(1#8]
1[ 3]
2[ 5]
3[ 4]
41 8]
5[ 7]
6L 6]
10 2]

(348]
1[ 4]
2[ 3]
3[ 6]
41 7]
5[ 1]
6[ 2]
70 8]
[ 5]

(58]
1[ 3]
21 6]
30 1]
4[ 2]
5[ 5]
6 7]
70 8]
[ 4]

(78]
1[ 6]
21[ 5]
3[ 4]
4[ 2]
5[ 8]
6[ 3]
107]

( +3.0 m)
326 FF b K5 (GEERATGE) 11. 08
263/ O # 22 (REEZERLEAR) 11,13
90 )2 £ W 5 REERAS#%)11.35
Sk Mg 3 GRULERAT ) 11. 40
241 = AR v K 3 (REMAEELRREHR) 11. 96
SNk & —3 (BARFEZN ) 11. 96
8 R g EfE 3 (BifFELRED AR 12. 90
( +1.8 m)
370 v By oK 6 (MRERAT5E)10. 67
156 &2 A& EL¥E 3 (BRKSY ) 11.09
174 28 Bt 2 (BMKRF-E%H)11. 54
323 & Bk 1 (RAKZERFHHF) 11. 81
126 2w #hikf 6 (EXERF 55)11. 84
3823 W Hr 3 (BHEMAYHK)12.15
21 AR ¥ R 5 GRRRFE-H R 12. 29
368 £ B 1 (Rfi KT wAN) Ri5

( +1.4 m)
1325 M &5 (ERERYHH)11.18
295 & %2 PR OK 2 (RO R 50R) 11. 39
120 B8 10 16 42 3 (HIRERKZ 1K) 11.76
342 /AR ARG 3 (ARE K- HUR) 11. 81
874 = Ty 1 (HRERRILAT-fik)12.14
292 [r 5 Mk — 3 (RO KT 5UR) 12. 47
108 Jf = f8 K 3 (UALKF- L% 13. b4
369 K (L K HHE 1 (ffi KA Ri5

( +1.9 m)

28 fn 7K H M 2 (RRF k) 11. 08
302 M % DhAs 1 (RARBATHK) 11,10
/04 ¥ A2 (KERF#HAEIN11.73
149 Kk & e (WRRZ-#m)11.85
102 % R 1 BEERAY5E)11.95
191 1 F B (FERTE- T8)12.18
201 % oA 2 (R KT 13,15

-0.5 m)

1[ 3]
2[ 5]
3[ 2]
41 4]
5[0 7]
6[ 8]
71 6]
8[ 1]

370 1 B 7&K 6 (FMaEHKT 4%)10. 84
325 ¢n K BN 5 (EERKFRHE) 10. 90
302 [H % DhAs 1 (RARBAT ) 11,16
62 JIl B 5 (RERARE-M2#2ID11.19
28 f 7k L 2 GRS 7) 11. 31
STHRE L B 5 (REBRZF- 1) 11. 37
326 #F I FH X5 (WEERAFLAE) 11,37
156 #2 A miifg 3 (BRAIRF 50 12. 08

(2%8)
1[ 6]
2[ 3]
3[ 7]
41 8]
5[ 2]
[ 4]
[ 5]

[448]
1[ 5]
2[ 4]
3[ 6]
4[ 3]
5[ 2]
6[ 8]
1017]
8[ 1]

(6+8]
1[ 3]
21 5]
3[ 6]
4[ 4]
5[ 2]
60 7]
[ 8]

( +1.7 m)
60 U 5 FHF 5 GEEELERz#RD 11,11

322 & &F #h & 2 (BARTZEFHR) 11,35
228 + )= —th 2 (EREMEBAZ ) 11.78
304 )11 O 54 (BAEBAT HKH)12.56

1938 & B4 (BRAXFEH2ID13.18
105 f2 H & K 4 (ILRKRF- 113D Ri5

16 = E 4 GERT K KI5
( +1.3 m)

62 = JIl B 5 (FEtry=0z4z0)10. 95

STHE L B 5 (BEHKRT-HEE)11.08
165t % —BR 6 (BMAF-K%H)11.49
261/ ) K3 (HREEZERLEER) 11.68
290 = A — BF 6 CGRUEKRT-#R) 11.99
112 —'= Af 5 (BREBKEHA) 12,12
210 v fil 1E & 1 CRERZ-#Z)12. 69
229 R H O HE 2 (RREREBAZ ) 12. 70
( +1.4 m)
325 &5 K Bk K 5 (BEERAFR-HE)10. 78
200 ] &5 A 2 (RS- HUR) 11,15

A2 10 Ik PH 4 (BERRT-BEE) 11,46
192 - # 1E98 1 (FERF T3 11.62
212°= K Wi Ay 1 CRERT-#Z))11. 70
23311 & KA 4 (RRERAZELRRD-AR) 12. 59
300 f% % B 3 (HAERMAZ HR) Ri5G



XBEF 20 0m F:E(6H1EF+2)

(18]
1[ 3]
2[ 6]
3[ 5]
41 4]
50 7]
6L 2]
70 8]

(348]
1[ 5]
2[ 3]
3[ 8]
4[ 4]
5[ 7]
6[ 2]
[ 6]

(58]
1[ 6]
2[ 5]
3[ 3]
4[ 4]
5[ 8]
6[ 2]
70 17]

RS
( +1
1[ 5]
2[ 3]
3[ 6]
41 2]
5[ 7]
6 1]

70 8]
81 4]

XIEF 400m

(148]
1[ 2]
2[ 4]
3[ 5]
4 1]
5[ 3]
6L 6]
11 8]
[ 7]

( +0.5 m)
313/h Ak BB N 4 (RERLAT-5E) 21. 86
166 /v A& 5 (BMARF %) 23. 46
1158 LB 5 RS %) 23. 56
68 H A Bk S 4 REARIREAI) 24. 48
N7 & — 3 (FARFEEHR) 24. 92
380 H ik 4 3 (RERLAT-1iK) 26. 90
201 7% Bk oo A 2 (FRKFE-HR) 27. 34
( +0.7 m)
205 ¥ 1 4 5 (RiEKF- A1) 22. 83
97 R Jm (£ 2 (BEEMAY-5E)23. 03
323 & BAd 1 (RAKEREE HF) 23. 98
1455 K 7555 4 (HRERKEHA) 24. 33
329 K Ji 1K 3 (WEERATR-HE) 24. 46
234 HRR AT 4 GEERGEELRRDED) 24. 62
370 ¥ By K 6 (MRERAF6E) KI5
( +0.7 m)
334\ H M2 3 (BREEBLER4TE) 22. 56
145 &[] % 2 (RRERT HR) 23. 39
356 fx lp SCHR 1 (EE K- RH)23. 58
224 = OB E 4 GRREREBAT R 24. 37
A S RE— BB 3 GUUERRS ) 24. 90
13375 K 4 (RRERT HR)25. 05
110 (L)1 B 3% 2 (UAKRTF- 108 25. 39

6 m)

373 7N K
334 [\ H
96 B [
46 & 12
205 i (1

B A4 (MERRE5E)21. 60
Mz 3 (EERKER-5E) 21. 64
£ 2 GEERKEHE)22. 00
=2 4 (HERE-HE5)22. 32
B 5 Gl K% 22. 46

28 kr Tk FR A 2 (BUBCRE- K 22. 76

62 JII B 5 (RERtE-lzEAl) 22. 81
245 SR B OKRR 2 (RERKEELRIE ) 22. 95

419 &
209 =&
94 1 A

f w1 4 (BES K7 HESS) 50. 25
=N 2 GRiieke-#02)1) 50. 37
HEK 3 (FEERAT-5%)50. 90
137 Ve g e & 4 (ERERE 500 51. 30
935 M i 3 (WEEMKTHE)51.59
23 Fn W g 3 GRS 79m) 51. 72
312 A 7 #hifif 5 (WiRERATT5) 52. 29
1794k B 7% 5 E7/EEHED Ri5

iR Rg (9FR)

(2#8]
1[ 4]
2[ 6]
3[ 3]
41 5]
5[ 7]
[ 8]

[448]
1[ 5]
2[ 6]
3[ 4]
4[ 3]
50 7]
6[ 8]
11 2]

[6+8]
1[ 6]
21[ 4]
3[ 3]
41 7]
5[ 2]
[ 5]
[ 8]

(2:8]
1[0 7]
2[ 2]
3[ 6]
4[ 3]
5[ 4]
6[ 8]
[ 5]

( +1.3 m)
62°= JIl B 5 (BEABLZ-m2#E) 22. 78
156 2 A EL¥fE 3 (BHfR% ) 22. 99

280 B AF & 3 GREURE: HUK) 23. 56

48 14 5k AP 3 (REERF-1ES) 23. 90
207 X ¥ R 3 GREREHE)) 24. 67
1618 & Fx 4 (FARELFEHD) Ri5

( +1.1 m)
245 S 2 KRR 2 (RAERATELRGD #7) 22. 69
28 7k Fh L 2 GRIERSE K30) 22. 79
226 = B #h 3 (RRERERAT HR) 23. 32
300 fi% H %2 B 3 (BAEBAZ HH) 23. 40
158 Br ik 7§ #h 3 (k% #U) 23. 88
256 H & 5 3 (iREEzERLERR) 24. 02
304 )11 O 3% 4 (AARBAT R 26. 23

( +0.2 m)

96 B[] =41 2 (FEERAY-HE)22. 40

46 5y == = 4 (BERT-HE) 22. 60
322 =4t #h B 2 (RARFHFE HK) 22. 99
254 ] 55 7t 3 GIREERERLERH) 24.19
167 Bt B 7% 5 (BMK5-K%)25. 88
295 | A IR OK 2 (RAKT 1R Ri5
287 KB HE KA 1 GRRKF: BN Ri5

332k - #fith 3 (MEERKFEHE)50. T1
2133 b FON 6 (RrERERKE ) 51. 83
221 3t % 5 GUERERRE HK) 52. 46
255 17 i R 3 (HREERERAZ 00 53. 74
243 7% N 2 (RRERRFELRI D) 54. 31
206 74 i & 4 GRERE-R)1)55. 04
16 = B¢ B R 4 GUERT KR Ri5



(3#8]
1[0 3]
21 5]
3L 2]
41 6]
5[ 7]
[ 4]
[ 8]
(548]
10 4]
21 8]
3[ 3]
41 5]
5[ 6]
[ 2]
[ 7]

43 O
e 3

1T Mg
209 T %
332 ji# H
94 & A
137 74 ¥
93111:4 EE]
23 0 H
213 |

O Jd O 1w

HMEF 800m FiE

(148]
1[ 3]
2[ 6]
3[ 5]
41 4]
5[ 2]
6[ 1]
10 7]
[ 8]

(3#8]
1[ 6]
21 3]
3[ 4]
4[ 5]
5[ 7]
6[ 2]
[ 1]
[ 8]

357 FFFHAE — BB 6 (iM% #78)l) 52. 47
335 A 1 AL AR 2 (BEEMATR-5E)53. 78
107 bk 85 g 2 3 (IIALRE-113Y) 53. 86
365 <F i A AR 2 (iRfikE-#72)) 54. 52
68 A Ak 3 4 GERERE-N2ERID 54. 71
130 ik #8 #t 5 (ERERS 55 Rig%
168 Br vk A5 44 3 (HFIRF ) Ri5

541 ot 2 GRS #1054, 17
321t & ¥R A 2 (FAREHES H) 56. 17
86 K48 )11 kWi 2 (ERERRINT- %) 96. 21
124 i fE ] 1 (BRERKS-HiK) 57. 38
298 fih 11 K 1 GROBRF 300 1:05.
4n B —BE 3 GURHARE: JR) Ri5
303 A - F R 1 (BAERKE: HH) Ri5

filt =) 4 (BER K5 BERS) 50. 25
BN 2 GRS 50. 37
i 3 (BEERAERE-HE) 50. 71
f@j( 3 (BEERAT5E)50. 90
st 4 (ERERF-HK)51. 30

& 3 (WEERKT4%)51.59
hitg 3 (FUERS:- 7% 51. 72
FN 6 (RRERERLTRR) 51. 83

20 K BF
43 ¢ R
268 i #
13 81
157 7k H
319 w7 )1
264 5% H
305 E R

FH 3 (BUEART K30) 1:59.
— 5% 4 (BB K- HE5) 2:00.
fidt s 6 (RURRE: ) 2:03.
B 4 (BRERATHAK) 2:05.
B3 (BRAZ H31)2:07.
W A8 2 (RAKTRFS H7) 2:09.

8 2 (RREERERAT D) 2:12.
FRAL 2 (RARBAST 30 Ri5

217 & &
130 2 i
171 A
246 & I\
95 % i
1171 9] S
310 8 1
125 Il

FLER 6 (RAEMERAE R 1:59.
B4 5 (ERERT Hx)1:59.
#h 4 GRS )90 2:00.
Ph g 2 GREHREELRRDER) 2:02.
BF K 2 (RHEERKT %) 2:03.
gL 58 1 (AR 113 2:23.
BN 4 (FRRERERH0) Ri5
{2 4 GRARRKE KR Ri5

24

(51

58
60
91
08
26
83
82

29
15
04
08
89
12

[4%8]
1[ 3]
2[ 8]
3[ 2]
41 7]
5[ 5]
[ 4]
[ 6]

E+3)
[24H]
1[ 6]
2[ 5]
3[ 3]
41 8]
5[ 4]
6 1]

[ 2]
[ 7]

[4#8]
1[ 4]
20 1]
3[ 3]
40 7]
5[ 6]
6[ 8]
10 2]
8[ 9]
[ 5]

70 7+ jik
10339 1
259 7% M
1505 A&
16375 7K
296 £ & H%’ 2 RART R Ri5
123 JL 3 HESF 2 (HRERLT i) K15

168 K &
198 5% fifd
340 3% 11
344 2 NI
18 #f I
183 [ &=
301 14 i
293 {3 ik

el 1 (FRERKE 5 Ri5
R 3 GRS ) Ri5

214 KN
15
152 I i
375 % i
178 %= H
294 % v
252 Wt I
282 [onf 1
185 ¢ K

K3 (i
5 EITUEREW

R 3 (FERE T Ri5

Bk 4 (EHAF LREEE) 2:01.
R 3 (R RS ) 2:01.
%k 2 (WEEBAFR %5%) 2:03.
b2 (RERF 451 2:03.
K BA 2 (GEEafE-IAREI) 2:04.
K3 G T R REND 2:15.

SZ 6 GURERERLT ) 2:05.
3 (BEARRE-M28E) 2:05.
22K 3 (BRK #m) 2:05.
RHAF- T8 2:07.
4)2:08.
i f 2 CRAKS HUR) 2:13.
SCHE 4 (RASERERATHH) 2113,
FEuL 2 CROERS: HU) 2150,

B 3 (BEZARE-N%¥5]) 54. 32
KA 6 (ALK 1AL 54. 50
M R 3 (REERERLZ1R) bb. 96

% 4 (BFKE:- HR) 56. 61

B2 (BAKERFETE) 1:02.

86

69
80
50
96
14
48

40
50
92
29
30
04
93
04



(548]
1[ 5]
2[ 3]
3[ 1]
41 2]
5[ 6]
6 9]
[ 4]
[ 7]
[ 8]

RS
1[ 5]
20 7]
3[ 6]
4[ 3]
5[ 2]
6[ 1]
110 8]
[ 4]

XIEBEF 1500m FiE (3#H47%5+3)

(1#8)
1[0 1]
2[ 3]
3[ 2]
41 4]
5[ 8]
6[ 5]
10 17]
8[ 6]
9[11]
10 [10]
11[16]
12 [15]
13[13]
14 [12]

[ 9]

[14]

52 R M K2 (REERF-1EH)2:02.
144 /)11 7% 2 (ERERFH0R) 2:03.
2 (EERRF-F7#4)2:05.
se T 2 (FfiRE-#R)) 2:13.
& 3 (REREELRIIRR) 2132,
Kk 3 (MERRAER-5T) 2:44.

347 % Uy
363 fiii =
236 1 &
333 wif %
303 [ F R 1 (BAERKE: HH) Ri5
18775 jE WE2 (TEKRY T8 X5

84 2% $2 v 2 (ERERELATF) Ri5

2017 ¥ ¥ 58 6 (RRERERAH7) 1:58.
214 RN 522 6 (UIERERIE ) 2:00.

F 3 GRBERT %) 2:01.
oK 2 (RESRF-1E5) 2:01.
th 4 GRIECRE %890 2:01,
— x4 (REERT-#E15)2:02,
B4 5 (ERERT HK)2:15.

20 K BF
52 K
171 A
43 $n K
130 2
168 K & E 8k 4 (BMkF LEEEE) Ri5

217 it 35
171 1 1]
215 A
144 /5 1|
43 $4 K
1134 1|
379 4 H
18 4f L
330 i il
312 [l
284 [
153 2F

34T ¢ By Hh 2 (LRRF-FH) Ri5
5401 ot 2 GERIRRE B Ri%

LB 6 (UERERAR R0 4:19.
=t 3 (RINREHiA) 4:19.
FE T 3 GRS B 4:19.
28 2 (BERERF 5 4:19.
— R4 (BERRT-RES) 4:19.
H 4 (HRERKE-HiK) 4:23.
H — 2 (MRERAEHR) 4:23.
A B2 BRI RAID 4:31.
75 K 3 (EERKER 77 4:50.
75 B3 (WAREEFE W) 4:50.
KA 2 GRRRT &%)5:00.
Th 52 3 (BRAE-#E))5:05.

T TR L RER 3 (RRERLERD-7) 521,
320 fii St 5A 2 (RARFEES ) 5:32.

62
40
93
31
33
15

81
97
26
39
52
93
o1

26
46
68
69
96
13
89
217
45
94
85
05
2]
34

(248])
1[ 2]
2[ 1]
3[ 3]
41 6]
5[ 4]
6 7]
71[13]
8[15]
9[ 5]
10 [10]
11[12]
12[ 8]
13[ 9]
14 [14]
15 [11]

[16]

3241k kw6 (GEERAFRAE)4:16.

83 i Ay i - 3 (ERERELAF U0 4:17.

64 & v fEvE 4 GREAEI2 U0 4:17.
316 M b fF — 3 (HARFEENH) 4:18.
16K 5=k 4 (BRERKE HE)4:19.

89 7R JII  En 5 (HEERAZ-HiA)4:21.
211 |l i 1 GilERs-#z)I) 4:29.
251 Bl o8 5 (RREERERAERR) 4:32.
164 5 HE & 2 (FERELFEZE-EE) 4:33.
203 [ EME 1 (HRKRFE-HA) 4:33.
366 % H K 22 2 (iR #7R)11) 4 39.
177 & 75 1 (RIRT 500 4:39.

6 K M4 (BRRFELRR-ER) 4:50.
247 & B K1 (RIERGERLEGRRRI) 4 56.
161 = pl 5L 4 (BEFRS:-FES) 4:58.
297 1WA FEME 1 GRATRS: UK Ri5

53
90
91
11
49
A
63
99
317
40
33
83
33
04
47



(3#8]
1[0 1]
2[ 3]
3[ 2]
41 8]
5[ 5]
6[ 7]
1[ 6]
8[10]
9[14]
10[ 9]
11 [15]
12[16]
13[11]
14 [13]
15[12]

[ 4]

R
1[14]
2[ 7]
3[ 4]
41 6]
5[12]
6[ 2]
7011]
8[ 8]
9[ 1]
10[ 3]
11[10]
12[ 5]
13 [13]

[ 9]
[15]

214 KN W12 6 (RRERERLEHR) 4:21. 49
36 FEAHE A 5 (BEBHAT-HiAk) 4:23. 26
20 K BE O FH 3 (HRBKE- K 4:23.90

253 (L T fH S 4 (RAEEZERAEHR) 4:23.94

188 %@ il —fF 2 (F %E K 5)4:24.32

242 7% H B 3 (UERLfELEEEHT)4:25.13

378 e W Ik 2 (MiREMAT Hx)4:37.03

104 V8 )1 7 K 4 (LBLKRZ- ) 4:38. 23

313 M Wil 2 (RAKFEZN 1) 4:41.52

136 & f# 1: 4 (BERERT E%)4:49. T

3817 i A& 3 (BEERKTHAI)4:59.09

2895E R &I 1 ORRKF-BEE) 4:59. 58

199 #8 J1| {Eﬁz (AT T2 5:05. 68

2/ B k4 (UUERAR RR) 5:16. 86

291 K H 4 RUBRZ 1) 5:23. 11

A9 AN A REBH 2 (LHRKFE HR) Ri5

207 ¥ 5 58 6 (RRERERKTH7) 4:07.99
2187 HEHE 3 (FUEKRT- 1) 4:08. 44
3241k pE w6 (MEERKFHHE)4:08. 59
214 kN S22 6 CUiEfERRE 0 4:11. 21
64 & ¥ 4 GRAAEE2T04:12.15
1TV S= 46 3 (EMARE-HiA)4:14.60
20 K B AR 3 GRBERE-Zm) 4:20. 52
83 T AT i 3 (ERERELAF ) 4:21. 56
316 1 b FF — 3 (BAREEFN ) 4:24. 39
116 7R354 =k 4 (HRERAT5E) 4:26. 02
36 fE A 5 (REHRZ 1K) 4:27. 80
89 % JII  Ew 5 (REERAS-HiA)4:27.98
144 /1)1 %? 2 (FEXERFH0R) 4:43.59
B A —ix4 BERFEHEE R5
253 11 T ’@EE 4 (RREERRRAE D) Ri5

XtHEF 500 0m REE

10 1]
2[ 3]
3[ 6]
41 4]
5[19]
6[ 2]
70 5]
8[ 9]
9118]
10 [11]
11[20]
12 [16]
13 [23]
14 [10]
15[ 8]
16 [29]

FRE i 3 (B RS ) 15:34. 12
it 4 (BEREL7-N217) 15:43.03
fiz o 2 (B KF- % 45) 15:58. 26
fat =F 4 (BEZB52-MA#Z)) 16:00. 06
FEIK 3 (BEEBAT5%)16:07. 29
343 71 i AR K 3 (LERFE-#A)16:22.02
216 f2 IRr BRAE 6 GUARRERAT H7) 16:39. 21
36 FEAfE KT 5 (BEB KT 1K) 16:46. 46
184 B ] & i 3 (Bv)7/7E8k85]) 16:55. 07
274 % J7 K 4 GROEKF-4U) 16:58. 56
316 7 £ ff — 3 (BAREHFDHR)17:12. 56
2154 )il % 6 (HrEMERLHR) 17:27.30
360 5%  fE A 3 URfKF-#HAN)17:32.06
160t % fit 2 (WfK%-55%)17:36. 45
186 K JII &R 2 (THERF-T%)17:38.15
91 fE S H 2kt 5 (REERAY-4E) 17:46. 25

2155 &
64 4 1
24 /)N BY
65 7] H
92 %k 1

17 [22]
18 [21]
19[12]
20 [17]
21 [39]
22 [32]
23 [27]
24 [31]
25 [28]
26 [34]
27 [36]
28 [38]

[13]

[ 7]

[14]

[15]

170 % ®& — BB 3 (fRMRF- K1) 17:48.22
169 %= A A2 3 (WK Hx) 18:15. 33
352 Bk I # Ak 1 (RE A7) 18:15. 69
339 RN 2 (BRERKFEEE) 18:30. 00
338k K 2 (EERKFEEE) 18:49.00
4105 fn &3 (BERAT- 1) 19:01. 34
106 £ [ 51 2z 4 (ALK 115D 19:04. 57
30948 #H M 4 (FAKEEFNHE) 19:10. 08
204 5 B FHOK 1 GiRURF H0R) 19:43. 16
173 48 B = 2 (RMNKRF-K¥)20:37. 26
248 5278 £ N 1 (GERRHELRADR) 21:24.16
320 fih Bt 5L B 2 (RAREEFN-HH) 21:42. 23
189 7 A ¥ & 1 (THRT T &hEiE
88 AR kML 1 (ERERELAZ 1K) Ri5

219 1)1 R 3 GRS 500 Ri5

1633 1K 2F 4 (ARERAE 5T) Ri5



[24] 37T 5 43 (HRERLE KR RiG
[25] 1T KW &3 (BRERLTHiA) Ri5
[26] 109 & 46 Z= A 3 (ILWALKZE- LR Ri5
[30] 143 BF  ~7 3 (ERERT HH) Ris

[33]
[35]
[37]

YHAEF 11 0mHI[1.067m/9. 14m]
[148] ( +0.7 m) [24H]
1[ 4] 166/ A8 35 (BMKFE-EE)15. 46 11 4]
20 71 12/hJ5 =5 (HEARF-K) 15. 87 20 3]
3[ 5] 269 &2 &% FEF6 (RRA% -ZRE)16.07 3[ 5]
47 3] 208k #7163 (GERF-#=N)16.17 41 7]
506] 158 B  [m5 (BEKF 7#M) 16. 61 5[ 2]

[ 2] 11988 W E 3 (BRERKEHIA) Ri5 [ 6]

(3#H] ( +0.6 m)

10 6] 364 LR K02 (Rfiks #2%)1)16. 01

2[ 2] 3bF L EZz6 REHKT#E)16.55

3L 4] 121 B 2 =2 (BRERKEHA)17.23

4[ 5] 82 AR FiE 1 GEAL-E2HR)18. 44
[ 3] 257k H KA 3 (GiREEsEif:RH) Ri5
[ 71 59 #hJr 5 GEdrI4E) Ri5

D AN
e 3

1 166/ #k
2 13517
3 12/
4 275% H
5 364 i
6
1
8

5 (FMKF-E¥)15.46 (+0.7)
i K 4 (ERERTT%)15.52(+1. 1)
£ 3b 5 (RS %40 15. 87 (+0. 7)
HEVE 4 GRS %51)15.99 (+1. 1)
K g2 ik mz))16. 01 (+0. 6)
269 12 %% )
208 Jt % )
35 FF L )

FEF- 6 ORURS 2 1)16.07 (+0.7
a3 GlERs )10 16. 17 (+0. 7
H iz 6 (BERF-H5)16.55(+0. 6

129 ¥z Beve s 5 (EREREHR) Ri5
1967 & 1 (BRAREHR)D Ri5
249 FEAF IR BA 1 (REEREELRIE ) R 35

R Bgs (3HH)

( +1.1 m)

13577 N i K 4 (RRERS-T5) 15. 52
2158 | HEVR 4 CRRKRF- %) 15. 99
192 45 1E98 1 (FEKRY-T%)16.85
194 7€ 1 K A8 3 (BRKT-#%I)16. 86
354 K g1 CRERF-#HZIN18. 32
358 AT BE AR 4 (AR AN RI5

XHHEBF 4 00mHI0.914m] R (2%H)

(148] [248]

104] 145& [ {55 GUEKFE K 56. 45 11 2]

2[ 7] 257k W K% 3 (UilEcEdfiE i) 56. 79 2[ 6]

3[ 5] 9HM EKAES6 CGUlKAF Ek59.63 3[ 3]

4 6] BIBEL #H 5 GEEEM¥E)1:02.12 41 7]
[ 3] 453 WA 4 (HEKFHE) RiG [ 4]

[ 5]

f0x

ey 3

1 145 [ x5 GRS %K) 56. 45

2 2577k H KRB 3 (HRdsaEfiejin) 56. 79

3 9HM EEB6 GRilKkF =k)59. 63

4 57T R BRIk 6 (GEEi=E45)1:00. 46

5 351 EE 2 (LEKRF H#)1:01.95

6 D5SIWEA #hiJr 5 GEERENZEED1:02.12

7 2667 0 B 1 GUREERERLE ) 1:04. 82

32 Ji & KOB (BLBLRY: &) 59. 72

5T I Hayk 6 (REAAR=E2#RI) 1:00. 46
351 7 & BB 2 (REKT-%4)1:01.95
266 7L 11 B B 1 GUREEZERRE R0 1:04. 82
283 EfE D A% 2 CRRS BUR) Ri5
361 K M1 I 3 (A2 Ri5



XtHEBEF 3000mS C[0.914m] R

65 7] [ fE =} 4 (RERLREZR2-#2)) 9:65. 35

1[ 4]
2[ 6]
30 7]
4[ 5]
5[ 1]
6[ 8]
70 2]
8[ 3]
9[14]
10 [11]
11 [10]
12[ 9]
13 [15]
14 [16]

[13]

[12]

[17]

(1#8]

TBIHEERAT AR ( 9TRE (EFR 2 4G A
2 [3]RRERER AT #2)1 (228 L 2
3 [6] HARFHFM AN (318411 BEAR 2 3234 H:
4 [4]BEFARF =12 5E ( T4 FH
5 [2]4E BL R 572 - HUAT (342/1 4K

[81HR

216 i lir PR AS 6 GERERERKE 70 10
223 W5 RE sE AT 4 (ERERERAT R 10
18 B ZH & #h 4 (FUERF- 7000 10

SMiE K FE S5 MRERLEEE)10:
20252 7 K2 (FaR$ R 10:
49 A R 2 (LERF ) 10:
13gn A sudr 3 (RERNER2FRID10:
30 1 B i 1 GRBCRS: 790 10:
328 7k H &K 4 (MEERKFRHE)10:
50 tr A FnBA 3 (RERSKRZ-#ES) 10:

197 JF b 303 (R 50 11

85 1 % 4F fF 2 (EREREHAZ /) 13:
1415 A 5 3 (ERERF 500 13:

12
:18.
:18.
21,
22.
23.
32.
41.
47.
950.
:59.
22.
22.

S1HR % #R8 2 (REERS-HEE) Ri5
331 R[] K& 3 (MEERRFHE) Ri5
160 4t e it 2 (RRE 5B ) Ri5

WIEF 4x100mR FiE (34H2755+2)

B R 57 O (

(7] RARZFEZE- RS (

(2#8]

TI5IRERR R BEE (4200 i 4 3TEAIL
2 [6]E R B KF ot (121N B F 4 5 1454 [
STATHFR R - BT (2936 1 2 3 384="%
ERAE HA (25615 6 75 3 26341
5 [31HER Y- 70 (232 0 B2 5 2310 H
6 [2] FR A K 2% - A5 A (361 i 1E 3 368174k

A

(3#8]

1 [AIPERRF - 5% (33278 M Hith 3 32585 K

4 [T] R EER

—h 2 2197R ik

& 3 60D J7
&5 3 356/ IR

60
04
99
97
58
30
53
84
"
97
98
A
84

KER 3 968 =2 903 W 5)43.55
—E 5 2263 i3 213 = 2\ 6)43.86
Fokd 1 3144 )11 108 5 322% 41 thi 2)44.13
FAFE5 6177 K &S5 T9F%kH HE2)44.38
SR 1 3484 % 2 3504k i Ad 2)44.51

) Ri5

) Ri5

WHA 5 46F 4 SEEZ 4 SAENE B 2)42.97
Wil 2 1325 W B S5 12644 #hifs 6 )43.45
IR 5 296E B MR 1 295 % PRk 2)43.82
TR 2 26189 #fy K3 257k H K% 3)44.25
M2 6 234t03R fhA 4 245583 KHEE 2 ) 44. 35
B 1 3624 H BEIL 3 364 5 K 2)45.93

A 5 3341 HE M2 3 3264F | A 5 )42, 01

2 (51U K- K 1158 JRFE 5 28fa7k 4Rt 2 12/ 35 16 =k [E#E 4 )43.33

SL7IHA T R %2 - B (149K &

4 (3] AMERARZ-HiA (1183 H HLth 3 121[K
SI6MEM K= - KB (167 &l 5 1750 HEKMS 1 1744270 BEd 2 165743 7% M 6 ) 45. 40
6 [2] (B2 - (i BL (01 BB 2 10Tk EF RREJL 3 1033 1 K#gf 6 10542 1 Z K 4 )46. 16

fE6 157/ M X3 158B/k 4544 3 156424 Hiifg 3 )44. 62

% =2 115548 Wil 4 1208510 1642 3 )45.23



iR B
1 [6]BERR AR 5 % (3327 M #ith 3 326¢n K K 5 3341 JF M.z 3 326fF | K 5)41.7
2[A1HU R K C 1158 JRFE 5 2847k 4ht 2 12/h50 #3456 16 =k E#E 4)42.5
SBIHEER AL ( OTEE R 2 OMEA MEN 3 96BLR] =212 90¥E3E 4t 5)42.8
AT6TRESS K52 -HERS ( 4200 Wep $R 4 37RO MBS 46154 == 4 48f0k AP 3)42.9
S [8IMER B RS2 BT (127/0NBf BLIT A 5 1454 ] #hi#8t 2 1325 1 W 5 12629 4% #fifst 6 )43.0
6 [2] A K7 - AU (2930HfiE # &2 3 384=" L% 5 296Kk & M1 295m% 1K 2)43.4
TLITRRERERAE- B2/ (228 1 — 2 2197 gk — 5.5 226/ 57 46 3 2130k #AN 6)44. 4
(1T BARFEA-mR) (3184H)11 BERR 2 32341 BGfd 1 314411 1S 5 32224 45 2 ) Ri5

WHEBF 4x400mR FiFE (3#H27%5+2)
(1#8]

1 [7TIIRRAT R - #2311 (365718 A 2 364 L5 Kn 2 361K M Ml 3 3621 J FE5A 3)3:27.
2 [61 3Ry R #2311 (209 48 BN 2 2054 111 &4 5 2084k 4h1A 3 20679 ¥ /& 4)3:28.
STAIMER %R 5 BT (1447011 787 2 1ATEHWH A 1 139fr )50 B — 4 137043 se 8 4 )3:29.
4 2] R ERIBR S AR (2267 BF #h - 3 213F 1 ZON 6 22130 (Y w2 5 21978 —15)3:29.
5 [BIRABERERAZ R (2577 1 R 3 255¢ ik B 3 259k M ML 3 26345 1 4 2)3:30.
6 [8IAULMA RS AU ( MrREH 83 gk 3 2N A4 Sal #h 2)3:48.

(5B R R 5 ( ) Ri5

(2#8]
V4]0 R - Rk ( 23F0 M $RiiE3 14k [ (x5 31LA FHE1 1207 #3345

)
2[61f5 M K5+ KU (16670 Ak 7505 168K Ewk 4 1711L)1 =44 3 1654 = —RF 6)

(7T BIRER R HA ( ) Ri5
(3#H]

TBIRER K- BB (438K —5% 4 A4 =4 3THEIL MBS 52K #k2)3:27.
2 [31 B HT K% - BT (28T K EFHEAHER 1 28087 A+ %=} 3 268041 fE s 6 283w fEth 425 2 ) 3:28.
S[7TIEFn K % - B Rt (158Beik #A5%+#h 3 152 17 22K 3 1558 M1 23 1598 A H23)3:29.
41214k BL K 52 - o 5T (35644 SCoR 1 344257 # =} 2 351788 AXE 2 3484 £  #72)3:30.
5[A]BEFART =D M2 ( 8OMA: &= 1 759/ Fnth 3 706t BB BE3 68+ AT k3 4)3:36.
6 [6]BIIRRAL K% THE (3721 #hMs 5 3798 1 #E— 2 386+ 4F 44 2 3754 A H: K 3)3:43.

RS

TS EERKRZ-HEC ITRE EFE 2 IMEA MRS 9342 W #3 96 =+ 2)3:22
2515 K5 K9 ( 23FnMH $RvE3 1488 ] =5 1178 JARES 12/ 21 5)3:24
S[2]ER B AR M (1397 B — 4 147TEHBAH A 1 13285 W B 5 1377 5545 4)3:26
A[STHME R -FhZ3)11 (209 F 48 B A 2 2058 111 84 5 2084L7% ARG 3 20675 % & 4)3:27
S5M41EMN K- BB (1667 A& 75 168K S Eifk 4 1711L)1] =244 3 16545 —E5 6 )3:28
6 [3] kA K2 #4531 (358 A REpk 4 364 B K& 2 361 KM HiE 3 35741 H1E—HRF 6 )3:30
TI6IRER K- B (438K —ik 4 MWA =4 3TRIL WBA 5 52K #K 2)3:31
SI7TIH K5 B (2765 HOEFIEH 4 280%rAf 2=} 3 268004 sk 6 283 @ GEMm R4 2)3:33

SBF ESBE RE

1071 27480 5 2 GEHAE =% 2n00
2018] 21976 — 205 (UEHHEHAD) 1nds
30141 341H1L 3 (L2505 Tn90
4013) 26 40 %852 G AH) Tng5

3:26.
3:26.
SIHEERATF-HE( ITRE HE 2 9342 | # 3 100/t BEA 1 9MEAR IR 3)3:27.
4 B3IRRERKT R (232 0 Bz 5 24646\ $hfE 2 2347 9R #lkA 4 2437 fE A 2)3:40.
5[8]7F UK & - B (19854 ] oK 3 203 (& 1 202£ A KlE 2 1973 | f#3¢ 3 ) 3:40.
6 [2] BAKT W75 5% (3184011 BEER 2 322% 4T #i& 2 321 )5 ikl 2 31441 {HEKE 5)3:51.

8
2
1
1
4
9
9

31
23
21
64
66
41

49
99
38
01
99
59

21
25
16
38
91
53

.45
47
.42
7
.48
.43
.91
.88



5[ 9]
6 8]
7116]
8[15]
9[ 5]
10[10]
11[ 4]
12[11]
13[12]
14 2]
15[ 7]

[ 1]

[ 3]

[ 6]

35 FF I H iz 6 REERZFHE)
262 0 M jE A 2 GURERREREERR)
172/ A g 25 2 (BWRE-#HR)D)
367 & W A1 (GffiRE: 113

)il K4 BEEREHS)
134 /N AT 4 (BERERTHR)
140 SR AT 4 (ERERS 5
3144011 1R AR 5 (RRRERZE-WRI)

69 58 JII FF 5L 3 (BEadrE=Rz 3l
285 AR H W A 2 CRORURS: HUR)
376 KAk I 3 (MEEAAT-HE)

1m85
1m85
1m85
1m80
1m75
1m75
1m75
1m70
1m70
1m65
1m60

195 /if [ & 3 (BRAT-#2)) sEdk7a L
288 HijJII #h A8 1 GRS HUR) Ri5
155 & MW E 3 (BRRY R Ri5

B+ ERBE RE

1[32]
2[31]
3[23]
4121]
5[30]
6[18]
71[29]
8[16]
9[20]
10[15]
1[0 1]
11 [13]
13[19]
14 4]
15[26]
16 [10]
170 7]
17[12]
19 [22]
20[ 6]
21 [11]
22[ 5]
22 [ 9]
24 [ 2]
25[ 3]

[ 8]

[14]

[17]

[24]

[25]

[27]

[28]

1[18]

27t ) fE - 2 (UK =)

26 £ 5 8 2 (RUERE: 7m)
18 FH I BE BB 2 (HRKEEED-#ZI)
231 [i] |z 6 GEREBRZ KHR)
21975 ik — H 5 (RRERERIZRRID
M8 M H 3 (RREHKE i)
127 /N8 B4 5 (KRS 55
190 28 Lk 1 (THERF TH)
120 R (L AR AL 3 (BRERKE A
162 & B Ot w4 (FARERFERR-TH)

617 K &5 EEdi-hwil)
262 h B (EL A 2 (RREERERAE RN

TARCH FE 3 (BEERAT=N2HE)
176 e 2 REfd 1 (BMKRT-KE)

4% L e REEREHE)
383t H = — 1 1 (BRERATHK)
261 R ) K3 (RREERERLT )
237 17 A R 3 (REERAZRLRADRD)
355 /vt — 1 (RERS 50K
154 55 W FnfE 3 (BR300
336 /h B Ay 2 (WEERAERHE)
285 f - HiF A 2 CRUKRE H0)
281 %5 (L BRI 3 GRS 5UK)
101 e A &1 25 1 (RERERATHE)
16947 AF &3 (BMKRE -REH)

Tm06 +0.
6m87 +2.
6m64 +0.
6m59 +0.
6m44 -0.
6m38 +1.
6m17 +1.
6m05 +2.
6m00 +0.
om97 +0.
om92 +1.

Ji
4 258 6m84 +1.1
1
8
8
1
2
3
1
9
5
5m92 +0. 4
Ji
2
Ji
3
6
4
3
0
4

22E2 5m94 +1.6

om90 +1.
5m86 +1.
om/6 +1.
om/3 +1.
om66 +1.
ome6 +2.
om65 +1.
om62 +1.

2AE2 5m13 +0.9

5mb5 +2.0
5mb5 +3.0 AF% 5m11 +1.6
5m25 +2.0
5m23 +0. 8

1252 [ {5 7 6 (ERERT H00) Ri5
227 41 k5 A6 1R 2 (REERERIEIRID R 35
346 & e 2 (RERE 50D Ri5
180 )11 % 7% 4 GOIT R Ri5
155 & MW E 3 (HRRE H) Ri5

394 Ez 4 BEREHE) Ri5
2T/ H AT 4 (MEERAFEEE) Ri5

XTBF =Bk R
155 5 W E 3 (WKZ 4N) 14m87 +1.4
2[19] 2771 KT F 83 CGLRKFE-4A)I) 14m59 -0. 1



3[17] 12/t #2345 GRBERT - RIK) 13m94 +2,
4115] 1548 i 4 (HREBKFE-HA) 13m69 +1.

1 288813m73 +1. 4
0
5[ 2] 1252 (1 6 (ERERF i) 13m65 +2. 6 22F
1
1

#813m58 +0. 6
6[16] 341 %K1 4k 3 (LEKF- 113D 13m64 +2. 1 225213md9 +1.0
T[14] 693 )11 fF 54 3 (RERARE-E2#2)) 13m39 +2.1 AFRECEHRG L

813] 1801 ¥& %= 4 (W)7/7ENKEES)) 13m08 +0. 4
9[12] 2197 gk — & 5 (GEHERLEHEI) 12m89 +0.9
10011] 26 B/ 5852 (BEKRF &) 12m79 +0. 6
11[10] 3744k £ -4 (BRERKEEE) 12m67 +0. 4
120 7] 18 M 5 th 3 (BREBKEHik) 12m42 +0. 6
13[ 6] 22713 5 {h 76 2 GiAEMELEEED12m12 0.0
140 9] 31THE)I AR 2 (ARKEEZED-#E)) 12m09 +0. 8
15[ 8] 55°A it B pk 6 (REadrr-lz#4) 11m93 +1.3
16 [ 4] 336/~ 11 H A 2 (GEERLHEEE) 11m06 0.0

[ 1] 146K A ®@EH1 1 (BERERS R Ri5

[ 3] 38F K F4 FEKFEHE XIS

[ 5] 394 H &z 4 BEKEHE RIS

AFEF AT 260kg] RIS

1020] 353 & H+ £ 1 ERKFE T#) 12m49
20191 2184E4r ¥k 3 CRRAS Hx) 10m30
3[13] 2384  # Z&3 (UEMEELEDED) 10m28
4[18] 2053 (i =4 5 GRfkF-#2%)1) 10m11
5[17] 67 T-H % KER 4 (BEz4t-04F51) 9m99
6[16] 1384 B &4 (ERERFHK) 9mI1
7012] 222 W PR 22 4 (RRERERLZER) 8mI1
8[15] 121 B 3% <2 (ARERKEHA) 8m82
9[ 8] 2188 A 5 (HREREHLEER) 8m64
10[10] 337 Nk &1 2 (BREEHAFR 5E) 8mdb
1021 221 &3 Gk %) 8m39
12[ 4] 213 K B4 4 (R KF HR) 8m33
13[14] 315 JII  EE5 (FAKEEZSHR) 8m24
14[ 9] 260 ASI= 2 & 3 (RAkEsELE 1) Tmo4
15[11] 112 —"5 Ah#H5 (ARERKE L) TmT72
16 [ 6] 2998 A ##f 3 (HAERKE HK) Tm69
1707] 158 B BE5 GUEKRFE-KM) Tmdd
18[ 1] 615 K &5 GEEAE02¥) Tm38
190 5] 31748 )11 BB 2 (AkkZEE-H21) Tm1b
20 3] 239 & 4 M K 3 (REdAE) J:WWE) 6m55

B F AR [2. Okgl R
1017] 67 F H % KAL 4 (BEarz-nz#40) 34m03
2[15] 12238 7 th 2 (BHRERLSE A 31m90
3[18] 567K K & 6 (REEELE-02#4))31m80
A4[16] 278 =4y &k 3 CREKE HH) 31m80
5[13] 115 48 #iE 4 (ARERKEHA) 29m37
6[14] 1384 J& 4 (EREKZ HKH) 28m70
71012] 18138 A # 4 )7/ R 2Tm17
8[ 8] 222 # j PR 4 GIRENERLT H7) 25mb0
9[ 7] 33T E &1 2 (GEEBAHE5E) 24m94
10[10] 218A8 4 &S 5 CUAERERLT HH) 24m56
11[011] 1311\ E%B (ERERS H5) 24m53



12[ 6] 193 E BE# 3 (GRM KT %K) 23mb2
13[ 5] 31748 )11 ﬂﬂzEB 2 (ARKFEEE WAI) 20m86
14 9] 3155 JIl  EE 5 (BAKZEEES H7) 20m30
15[ 4] 273 K 4 4 (GHRKFE HR) 19m73
[1] 33Kk HT 6 HEKFHE RIG
[ 2] 256 & 6 7 3 (IREEAERA: IR Rim
[ 3] 260 AR 27K 3 GREELENLTEHR) Ri5

F—TBF < —[7.260kg] RpE%
107] 3K HT6 FEEKRE Ei‘%)32m05
2[ 8] 225#F  fi K 3 GiiEREELZE3R) 29m74
3[ 6] 67 THYKES4 GEit-n2w5) 26m82
47 5] 194F E #8833 (BUEKSF-ZK) 19m90
50 4] 222 ¥ERE P2 4 (HREBERLE ) 18mb3
[ 9] 5675 /Kk BE6 Giaiti-lzws) sefki L
[ 1] 15 H B [E5 GERE &I Ri5
[ 2] 286 A 7&K 2 GREKT R Ri5
[ 3] 267% )7 FEBr6 (HRKFE HR) RiG

EBEF LYK [800g] REs

1[24] 115 548 #WiE 4 (HREBAEHA) 54m19
2[14] 40 R& f&dil 4 (BERRF-HEE) 52m25
3[19] 3454y K Hh 2 (LB K% H) 50m71
A[ 2] 267# 5 FEE6 CRRAT-HR)50m48
5[22] 63F A Fh 7 4 GERELEM2¥E) 49m39
6[23] 1825 & BH 4 (&9)7/7EHEEHE) 48m81T
70211 98fh . ® 2 BEEBRKFHTE) 4Tm66
8[20] 128 )11 X =35 (EREKSE H) 43m69
9[17] 1384 J& 4 (EREKZ HKH) 43m65
10 [18] 272 fH i IZ%% 4 (REKT 00 42m74
11[16] 728 % B3 GEdrenzus) 42m02
12[15] 348 & %  #2 (LEKFE -HK) 41m7d
13[11] 315 JII  EE 5 (RAKE#EED ) 41mb8
14 [12] 250 f 2 EEHE 5 (RRfgzERLE ix) 39m90
15[ 3] 359 E-HE.Z By 4 (ffikF#2)1)39m30
16 [13] 221 % w5 (REMERLE ER) 3Tm34
170 6] 27#x [ A& 2 (K =&)36m6d
18[ 4] 221" &H# 3 Gk KT Kk 34m39
19[ 1] 235%&%F ¥kor 3 CEREiEERD i) 32m45
20[ 5] 299 ¢ A il 3 (AAERKZ GH) 32m43
21 [10] 31748 )11 FLER 2 (RAKEEES-B2)) 31m93
22 [ 9] 244 Hg 3 B ME 2 GIRERAZELREDED) 29m73
23 [ 8] 265 FERA A — BB 2 (RREERERAHR) 21mb1

[ 7] 49 EEIFMIA 3 (HEKS HE) Ri5



XEZF 10 0m F:&E(6fH175+2)

(1#8]
10 4]
2[ 5]
3L 8]
41 3]
5[ 2]
6[ 6]
[ 7]

(348]
1[ 4]
2[ 2]
3[ 5]
4[ 3]
5[ 6]
6 7]
70 8]

(58]
1[0 4]
2[ 5]
3[ 3]
4[ 2]
5[ 6]
60 7]
[ 8]

iR B

( +1.0 m)

1730 # B 1 GEERKE5E5)13. 41
199 (L B 248 3 GEMERLE ) 13. 55

1A B 31 CGIRERLE HH) 13.91
172 Ve jle FRAk 2 (UK K30 13. 94

49 B B T 05 3 (BAKZEZH %) 14.52

AT A= 4 (EREREIERT6) 14. 82

43 = H I 3L 4 GRERRY HR) Ri5
( +2.0 m)

95 7R H A 4 (AREBKZiK)13.17
140 & H B &4 (EMNKRF-E¥)13. 11
250 7% 32 AL 3 (kBT -#m) 13.84
112 3% i W HE 3 (BRERF 5 14. 11

62 %% 5L 1 2 (WERRAFR-HE) 14. 29
219/ #8 A2 GERRTERAT RF) 14. 43
235 Wy £ D 1 CRAKRF-H) 14. 62

( +3.2 m)

19 9.2 WACHE 5 (RESRT-I=#50) 13. 52
161 FBEE ML 4 (BUE KT K0 13. 87
265 R JIIERE 1 (WRHER R 14. 26
186 #r e e 4 1 (KR 14. 68
230 (L =R 5 CRURKTF5UR) 14. 85
243 A BREE 1 (RAEBAT HK) 15. 59
133 1h N L #f 3 (MRRF 1) Ri5

( +0.5 m)

11 4]
2[ 5]
3[ 6]
41 2]
5[ 1]
6[ 3]
71 8]
8[ 7]

=& 4 (BRERYHH)12.72
180 78 38 A £ 2 (F K% #) 12,99
95 R It KA 4 (BRERATHiA)13. 32
240 /NIAREZAE 2 (RARBAE R 13. 64
199 1L - P28 3 (RRERERKE 1) 13. 65
17350 B 1 GEERKTE6E) 13.75
103 7% & & e 3 (AREMAT-HiK) 13. 99
19 ¥ 2 W ACHD 5 (RERRRE =Mz #211) 13. 99

[RARF

(28]
1[ 4]
21[ 5]
3[ 3]
4[ 8]
5[ 6]
6[ 2]
1017]

[448]
1[ 4]
20 7]
3[ 2]
4[ 5]
5[ 3]
6[ 6]
70 8]

[6+8]
1[ 4]
2[ 3]
30 7]
4[ 6]
5[ 2]
6[ 5]

XZF 200m FE AHH155H4)

(148]
1[ 4]
2[ 8]
3[ 3]
4[ 6]
5[ 7]
6[ 2]
[ 1]
[ 5]

( +1.5 m)
TR 2% %« 4 (BRERSHR) 26. 01
229 N1l wE B 2 GRRUR - 50R) 26. 30
99 = M EWL4 (BRERKEHA) 27, 72
162 $5 A HE WL 4 GBI 7 28. 68
196 A5 5 J#R A1 4 GRRERERKZ 1) 30. 01
232 Ve A+ 2 GROBRE 5UR) 32. 75
30 47% buAy=1 GERERAE KK Ri5
244 KU EALIZE 3 (FARZEHED 1K) Ri5

(2:8]
1[ 5]
2[ 3]
3[ 6]
4 1]
5[ 8]
6[ 4]
10 2]
8 7]

( +0.2 m)

TR 28 %« 4 (BRELRZ ER)13.
B &£ 3 BEMKFE-EH) 13
205 7k |1 #EH 2 (EREEAERLEEH) 13.
ZH 38 | (RREESERLE D) 14.
2 4 (GEEBiE-I2H5)) 14,
% 2 (MRERAEHR) 14
1 (RRERAZ 1) 15.

144 %

207 Fn 7
81/ %&
261 22 JiL
40 =

( +0.5 m)

180 78 38 A 3£ 2 (FKF ) 12,
240 /NAARE AL 2 (BRERRAS R 13.
JE FE 2 (AR #2113
252/ Ak AR 1 CRERF-BER) 14,
192 Ay &5 A 4 GIRERERAE ) 14.

9 = HEEA+ 3 (REERKEHE) 14,
H K 2 (WK H5) 15.

256 4

135 [if]
( +1.5 m)

103 78 38 L e 3 (HRERAEHiA) 13.
65 1% fE 32 2 (MRERKF4E)13.
67 KM Ffd 1 (FHKRE R 14,
69 Wi f 5 5 (BER KT BER) 15.

268 [ B I 2% 2 (BRERKE k) 15.

244 KBy EALSE 3 (WAREEER R0 15.

( +0.1 m)
17 9% 321
68 fi7 A<

179 4% k&

219 /s #i

40%& =

# B 1 (REERKEHE) 27.
i35 6 (BERRT-HEG) 28.
By AR 2 (AR 30 29.
161 TR EML -+ 4 GRERST: K) 29.
2 (RRatERkEER) 30.
262 [ S5 Jv 2 (WiRERAT 5E) 31.

54000 3 (MEERKERAT) 31.
&1 GERERAT HR) 32.

28
89
94
96
12
81
48

92
99
82
21
22
63
99

85
98
40
00
08
2]

97
03
07
62
13
01
67
13



(348] (
1[ 6]
2[ 5]
3[ 3]
4[ 4]
5[ 8]
6 1]
10 7]
[ 2]

+3.2 m)
95 R H X AH 4 (ARERKE 4‘%)27
19 Y .2 NACHE 5 (BER8LZ=M2 851 28.
130 £ i @ {3 (HRKZE ﬁ'?)28
250 i %
210 £ 7%
187 /1 H
201 - H

43 E WM 2E 4 GUEBRE D) R

iR B

(

1[ 5]
2[ 8]
3[ 6]
41 3]
5[ 7]
6[ 4]
10 2]
8[ 1]

+0. 2

m)

95 R
99 & H
1790 # 51 GEERLY-HE) 28.
19 2 NACHE 5 (RERRIE-N=-H31) 28.

¥ A6 3 (LRS- HUR) 28.
7}Z7|< 1 (RREE2E#KE 1R) 30.
F 1 (iR RE HUR) 30.
ﬁ%é 2 (CRRERERAE ) 31.

TR &% 4 (BRERS HR) 26.
229 N L me B2 (RURKRF- 3R 26.
141 /NRIET= 5 4 (EINKRE-EE) 26.
¥ A 4 (ARERKE-HA) 27.
=L 4 (FRERAEHA) 28.

68 i A HEZE 6 (RESKF-HE) 28.

09
46
90
95
22
24
25
5

20
34
42
45
08
26
14
14

SHEZF 4 0 0m R (44H)

(1#8]

1[ 4]
2[ 5]
3[ 6]
41 7]
5[ 2]
6[ 3]
10 8]

15455 A R BE 5 (THERY TH)1
18 &I DZ I 3 (FREKFF) 1
116 7% B #2243 (EXEKFH0) 1
1235 W L E 4 BERRE- R
T4 AN & 3 (BHERFE )1
ST Il =753 (MEERKEEHE)1

(3#8]

107]
2[ 4]
3[ 3]
[ 2]
[ 5]
[ 6]

46 773 LW 3 GUIRBASZ #0001
50 7 11 & FIITE 3 (RAKFEFH H) 1
101 & ARy 3 (BRERKE i) 1
457U W0 5 CHRREAE ER) R
67 KM F A 1 GFHRE HE) R
128 K EH 2 FEERAFHE) R

N AN
iy 3

1

O J O Gl wWwN

14 /N IE 72 5 4 (BMRE-KE)59. 32
15455 KRR 5 (THERT TH)1
N8 EINDZE A 3 (BRERFFH)1:
116 % 1 22 3 (ERERE A1
12 1% H %%4 G PN DN
99 % M E Wl 4 (BRERRE A1
TA% AN = 3 (BHHERF-HE)
198 & [ AL H - 4 (RREREHAE R0 1

141 /N JE1E 7= 5 4 (BINKF EE)59.
(01,71
:01.72
:02. 89
:03. 46
:04. 84
:05.13

32

:09. 91
21375
:18.03

5
5
5

:01. 71
01.72
02. 89
03. 46
:04. 04
:04. 84
:04.93

(4#8] (

1[ 5]
21 4]
3L 3]
41 7]
5[ 6]
6L 8]
10 2]

[ 1]

(248]
1[ 8]
21 4]
3[ 6]
40 17]
5[ 2]
6[ 5]
[ 3]

[4#8]
1[ 2]
2[ 5]
30 7]
4[ 4]
5[ 3]
6[ 6]

+0.6 m)

141 /NYRIZ 72 5 4 (BMKRS-K%)27. 08

248 R W] £ & 3 (KERF-#A)28. 96
10 X & I Av 3 GREERKT%%)29.13
67 K H Fhd1 (BHKFHR) 30. 07
53 MRk 4 (EERAE4E) 30. 12

115 % K& 3 (EREKRY HH) 30. 62

129 AR E 3 (ks ) 31. 44

81/ & 4 GEIE-I2H) KI5

99 & H
162 ¢n A
130 {7 ik
151 K47

E il 4 (BRERAE-HiA)1:04.
Eflﬂél( AR T k) 1205,

b 03 (BRIRS: 30 1:05.
EEI e 3 (b7 7RREHAID 1:05.
T4RTH EW 2 GEERAEHE)1:00.
129 AR 3 (AR H0) 1:12.
9238 M  HWL 2 (UARRE1ED) Ri5

198 J [ Hfi 1+ 4 GRERERIE 70 1:04.
113 @& O 0% 2 (LRS- ) 1:09.
238 INE A 3 (HAERAE R 1111,
234 K EAT 2 OR300 1012,

88 A Afp1 G112,
245 il 77 264 3 (HAREEFER R0 1:12.

04
80
96
99
10
07

93
29
19
28
13
18



X+ 8 0 0m FiE G#155+3)

(1#8]
1[ 3]
2[ 5]
3[ 6]
41 7]
5[ 1]
6[ 4]
10 9]
8[ 2]
[ 8]

(348]
1[ 3]
2[ 4]
3[ 5]
4[ 6]
5[ 8]
6[ 2]
10 17]
8[ 1]

(58]
1[ 4]
21 5]
3[ 6]
4[ 8]
50 1]
6[ 2]
70 9]
[ 3]
[ 7]

RS
1[ 3]
2[ 5]
3[ 4]
41 6]
5[ 7]
6[ 2]
10 1]
8[ 8]

176 il A AR 4 (FFRAT-5%)2:29. 46
89 -5 H{E6 (LRKF- 113 2:34.52
204 R F #3e 3 (RREERERATHR) 2:36. 53
132 ZE /% AR+ 3 (IBRIKS ) 2:43. 40
269 ZREOe D 2 (BRERKT-HiX)2:44. 21
8 & I &k 3 (FEEMAT 5E)2:46.78
38 & [ A 1 GIRERAT HK)2:52. 88
218 3k (L X AF 2 (R FERATHK) 3:15. 76
57 @ v 5 RERATE HR) Ri%

228 1= g B 3 CRAEUKRSEHUR) 2:35. 60

56 /NARHPHI N 3 (MEERAER-5E) 2:37. 14
200 /)N I 3% 2 (RRERERKEER) 2:39. 57
146 P B B AE 3 (BIMAE-KE)2:40.96
246 KRG )Y 2 (RARERFAEE) 2:42. 06

236 &)1l E 1 GOBRE AR 2:44. 11
106 (= [ == 7 2 (BRERKE ML) 2:49. 22

239 f A B 0 7> 2 (RAKRAE HH) 2:55. 25

15458 AR REE 5 (THEKF T%)2:34.95
831N MR fE 2 (HERRRE-Nz-#2)) 2:35. 65
195 485 5 51 4 (RAERERKERR) 2:49. 16
125 /INARHEFR 2 (BRERF F00) 2:50. 32
259 N BRHE 3 (MIRERAE-4))2:53. 76
168 1% £ {1 4 4 (JU KT K 2:55. 56
222 /NIARATE 1 GUERFERRE 1) 3:29. 93
25 1 At 2 ERERRLLR6F) Ri5
46 77 ik L 3 GUURRAS H0) Ri5

154 512

176 fifi A
228 1= i
80 1& %
150 §7] 4
83 11 ™
89 + 75
249 % 45

PR ER 5 (FEERT T3)2:20. 53
BB 4 (iR RE 5 1) 2:21.09
B 3 OR300 2:21. 92
B %% 5 (RERikz=Nz70) 2:28. 82
# 7= 4 (W77 RREERID 2:31. 93
W 2 (RERERF=E2#2)) 2:35. 87
H 6 (UALRE- (13 2:36. 69
52 A 3 (LEXE-#A) 2:40. 20

(2#8]
1[ 3]
2[ 9]
3L 6]
41 5]
5[ 2]
6[ 8]
70 1]
[ 4]
[ 7]

[448]
1[ 6]
21[ 5]
3[ 3]
41 4]
50 1]
6[ 2]
70 8]
[ 7]

249 76 v F2 A 3 CRERS-#H71)2:39.70
128K EIR 2 BEERKT %E)2:40. 26
131 Z HAEZRIT 3 (BMKSHK) 2:42. 01
4 =47 BLE 2 (ERERELITIF) 2:46. 98
63 B ) & 2 (MEERAER-5E) 2:46. 99
208 /bR A A 1 (RREERERAF ) 2:53. 15
97T9EK O % 4 (HRERATfiA)3:12. 77
108 -/ {856 (BRERF RN Ri5
170 ST SR fC 2 GRBRS: - 0) Ri5

80 J& =
150 §7] 4
254 & I
267 #1111

36 i3 [
245 fii 7
234 K

48 1A

B %% 5 (REEda=Nz7)) 2:31. 08
# 7= 4 (BT/RREEHE) 2:31. 15
ME S 1 CILERE: 54 2:36. 47
Ao 3 (BHBERAT-HiL) 2:41. 80
56 FE 1 CGURERAS HR) 2:46. 91
3 fE 3 (FAKEREHHR) 2:57. 39
FE AT 2 GRURRE#) 3:01. 90
B )Y 4 (RARZEES 1) Ri5



XHEF 150 0m R Q)

(1#H]
1[ 2]
2[ 3]
3[ 1]
41 6]
5[10]
6[11]
71 8]
8[ 7]
9[13]
10[ 9]
11[14]
12 [15]
13 [20]
14[16]
15[19]
16 [17]
17 [21]
18[ 5]
[ 4]
[18]
[12]

D AN
e 3

—_

102 #2 H

80 & #i%
228 Jx jiF
188 & i
190 )1 £

80 3 #z
228 3 ik
188 H i
190 )11 |

ir 4< 5 GRilERE - h)1) 5
EH i 5 (RRERERIERR) 5:
83 Fry HafE 2 RERR=N2 3 5:
102 fx H - BEAL 3 (BBEMKT-fik)5:
18Kk B 52 (HBRE-HEE)S:
ST m BEPE 5 (BEEMAERAT)S:
120 = & Z Bk 3 (ERERZH0R) 5:30.
T3 M E 3 (FEHRE-HEE)5:31.
194 /47 4B Ay 4 GERERERKE ) 51 35.
258 7% K R 3 (MRERAS #7051 38.
147 58707052 3 (BMARZE-KE)5:41.
O JIESEALF 2 (IUALRTF LAY 5:43.
98 <5 % My fE 4 (BREMAZHiA)5:45.
60 1 A FE 3L 3 (MEREAAER5E)5:50.
14k gk Bk 3 (ERERE HR) 6:06.
227 %5 i
% & L2 GEERKEAE) Ri5
48 LA Bi Y 4 (RARFEER-H0 Ri5
254 =05 MESE 1 (LRS- Hi0) Ri5

i %€ 5 (RERERE-L2HA)) 4:53. 46
B -3 CRAUR ) 4:55. 55
A 45 ORifERZE-#2)1)5:02. 11
FLIL 6 (UEMERAR 0 5:22. 80
Baf 2 (BERBR-I2080)5:22. 82
HROR 3 (BREMKF i) 5:23. 28

18Kk BT 52 (BEKF-HE)5:24.40
S1/R &) ®iPE 5 (MEERAZN4E)5:27. 31

*tEF 300 0m R

1[ 2]
2[ 1]
3[ 3]
41 8]
5[ 5]
6[ 9]
71[23]
8[14]
9[ 4]
10 [11]
11[13]
12 [15]
13[12]
14 7]
15[10]
16 [16]

2
3
4
5 83 W
6
i
8

803 & Fi %% 5 (BERANZM2#2))10:41.
188 EL il Ay 4< 5 (RUEKE-#74)1) 10:54.
257 75 W AL 1 (AR #)11) 10:67.
100 7 )11 K55 7 3 (BRERKZiA) 11:01.
110 AL AT+ 4 (ERERE 500 11:23.
139)R E &5 (BMAZE KE)11:25.

RE SEwe 4 (BBRE-HEE) 11:34.

55 K4y E M 3 (MEERRZRHE) 11:37.
145 g5 K 91 & 3 (BIMAE-KE)11:38.
124 )11 5 E= AL 2 (EREREF050) 11:39.
197 SMA £+ 4 4 (REMERAE ) 11:42.
165 £k A2 b5 & 3 GREBIRT k90 11:59.

59 )il 3E A 3 (MEERAZR-5E)12:12.
226 B ff 5 GRS A0 12:16.

Tl T 23 (EBRE-REE)12:19.
131 R HAESIT 3 (RURY: ) 12:20.

Bii 3§ 5 (REEALT=E2RAI) 4:53. 46
B3 GRS H00) 4:55. 55
02. 11
22.80
22.82
23.28
24. 40
27. 31
08
32
80
96
15
40
94
16
02
Mz 3 GRORRF Hn)6:14. 24

18
05
11
93
90
93
15
51
12
15
32
02
18
10
10
17

(24H])
1[19]
2[ 4]
3[14]
4 5]
5[ 2]
6[ 1]
7[16]
8[ 9]
9[15]
10[18]
11 [17]
12[ 3]
13[10]
14 7]
15[ 8]
16 [11]

[ 6]

[12]

[13]

[20]

17[ 6]
18 [20]
19 [17]
20 [18]
21 [31]
22 [24]
23[29]
24 [19]
25 [25]
26 [32]
27 [21]
28 [30]
29 [26]

[22]

[27]

[28]

1499 B 21 (BMKRE-KE)5:37.
185 T 8L A#b 1 (HARF H)5:47.
90 KA 2 (ALK LAY 51563
171 e je # Bk 2 (LRS- 7Aik) 5255,
255 )11 i Fg 32 2 (fikE-#)1) 6:00.
160 & 11 = % 4 (RERE 7m0 6:02.
270 g5 A J7 1 2 (BHERLAE1iK)6:06.
26 R IR R E 2 (RRERAEHR) 6:07.
AT9% & FEE b5 (RARFEFH-HR) 6:17.
272 %y W S22 (BEERAEK)6:21.
137 F B 32 (BRRS-FR) 6:25.
183 Bl b3 1 (AR5 ) 6:26.
2214 5% B A1 (RkfERREER) 6:29.
9 B E 1 GRERATHR) 6:33.
163 Jf AR A3 (W)7/7ER i) 6:45.
215 %k M & # 3 (Ui FRRAEHH) 6:59.
206 FELAAAR ~ - 2 (RREERERKTRD) R15
12773 T b 4 (AR 1) Ri5
260 47 % 0 2 (RERLE ) Ri5
211 /8 % WERE 1 (GREERERLE 00 RI5

251 g R LM 2 (LERS-#HE)1) 12:30
167 fay i PR 3 GRERST: m) 12
128 3L B2+ 3 (R ) 12
107k~ 2 W2 (RRERKEHA)13:
2379 1 k4 (RARBAE ) 13-
42 i) By K 2= 3 (AR H0) 13:
21 <N 6 A 2 (BHERKE-HiX) 13
191 FHRTHEA + 4 GUERERIE 0 13-

242 1 B WA 2 (RARBAT ) 13-
266 /]~ 5
22418 Az g 1 GAFERAT ) 14
213 ZEFAAN B TE b (UAFERIE 0 17:
2275 J N z% 3 GRS BUR) Ri5

AARF MAE GEERRE ) Ri5

2485 K EHE 2 CURERKT 5K Ri5

37.
144,
14.
15.
17.
36.
37.
33/hH A 1 GREMAE AR 13:51.
52.
4 3 (BRERKEHK) 14:01.
37.
25.

95
92
41
63
54
43
1
817
A
04
31
61
62
49
94
14

.18
84
42
A
26
32
33
48
98
24
14
41
46



Xt F 1 0 0mHI0.840m/8. 5m] #Ri% (248)

(1#8) (  -0.4 m) (248 (0.0 m)

10 5] 1640 £ %723 (k% %) 16. 07 1[0 5] 241 THAFIE 2 (ARERLE HR) 15. 84

20 7] 5% HSE 3 (BEEKT-HEE) 16. 45 20 8] 229911 mwe B 2 CREKT-Hx0) 16. 28

3L 2] 122 1A W% 3 (EREAZ Fm)17. 37 3[ 4] 269 ZHEO 72D 2 (BHERKAZ i) 18. 54

41 3] 172/ ik 2 (BUEKRT K4 17. 66 A[ 3] 2731 F £ 2 (BHERKEHL)20. 98

5[08] 1238500 3 (EXEKTF5)17.75 [ 2] 84 HATHHFE 2 BEIIHE) K35

6[ 6] 225 % £ 6 GURLKT Hx)18.73 [ 6] 199 L H BEZS 3 GERERERLE TN RIS
[ 4] 193/Nigk A Z= 4 GIRERERKE ER) Ri% [ 7] 85 H AR & A 1 (BEdfE-Iepal) &35

1 281 THATIE 2 (ARERKT HR) 15.84( 0.0)

2 1641 £ F 723 UK %) 16.07(-0. 4)

3 229Nl wE R 2 ORARYH0%)16.28( 0.0)

4 15t FE ASE 3 (BEEKT-HE)16.45(-0. 4)

5 122 (h A R % 3 (ERERT R 5)17.37(=0. 4)

6 172 FRAk 2 GUEKRY K50 17. 66 (0. 4)

7 123EB &0 3 (ERERTHH)17.75(=0. 4)

8 269 ZREO 72D 2 (BHEHRAT-1i£)18.54( 0.0)

WIEF 4x100mR F3E (34H27%5+2)

[148)

1 5]ERERZ AT (122104 FRE 3 111 R &4 4 1180 F 7 3 1095 W

2[6] HIBERKF-HiA (1030538 EBe3 955 EH 4 9FH HWL 4 94 H:

SHAIER K- HEE( TOMMEHEES T5%EE AE 3 T4 AHV &3 68tEm A

4ITINEFN K% - BT (1331 2648 3 134K W ¥22E 2 129AFHELE 3 1305tk

5 [8]HTA%AL K B (27675 7K #5923 26158 J/L & 2 2631 H % 2 262fA [
(3] BT R A2 - SR (2301 L [ Bl 5 235R%I% {75 1 232112t 1 2 23147 )1
[2] M EELER AT MR (2057 (L #EH 2 207F05% ZE3E | 210K& 1% ACE 1 20948 B

(2%8]

i 6 )50. 57

i# 5)52. 33
Hf3E 6 )52. 68
7075 3)55.79
FiR2)57.04
IR 2 ) K&
B 1) KA

106147 N K - = B (1406 5
2 [4] R ERER K O (19373
3 [8]a HUK 5 - At (1710 6E
4 [5]BREEARE M2 ( 881114
O [TIHRRFERKTE: R (2147 1]
6 [2] HOR AL R O (467K
(318~ )7 /FERRE-#AN (
(3#8]
1[5 503 K =7 - 3k (1724 1
2 4] B EER KT B % (

9= M{EIT 3
SBIEERKTR - HE( BAFNUNY 3 65NE JE3E 2 5THJI FJh3 62%K4A

B4 141MBIZ7-2 4 144 B SFE3 1482k 2 £ 2)53.02
KZE A 1991 BEAS 3 1928k) 5 H 4 202KkFE %43 1)54.25
SEA 2 17955k By 2 180038 A5 2 1787 £ FifE 2 )54. 67
A#b 1 81/ sa 4 B8R EMT 2 T2 N 5 )55. 81
ALHES 223F & W1 2207 M e 2 219/ % A2 )56.05
L3 43=M MEE4 457U WD 5 42[M % K% 3)57.65

) Ri5

a2 16447 £ E 72 3 169406 MEHE 2 163181 Hfc+ 4 )51.70
T4RTH LML 2 1080/ Fady 3 179€14 #6 5. 1)53.46
HF 2)54.81

421 B ER RS RO ( 3B 1FZ oo 1 311 3 1 3047% bAv-1 21EHRHET 3)55.07

[6]ALHL K- 443 ) 1] (2487 7]
(7] BARH R K5 B (238044

FE 3 252/ bk 3K 1 253 LIZ Y 1 25008 AL 3) Ki&
A 3 240/ NAPREAL 2 239WAED Y 2 241 T AT 2) Ri5



R

TI6]HL I K% K (1755 )1 24 1 1644 & £72 3 16945¢ WS 2 16311 7 4 ) 50. 63
2 [51NER B RS B (122104 B 3 T &4 4 18EJIIOFH 3 1095 #E 6 )51.02
M4 BIRERKE-HiA (10308 £me 3 957RH H 4 99=H EiL 4 949 H ¥ 5)52.79
A2VBEIS K7 - BEI5 ( TORMmEESE 5 Ok AE 3 T2iMH E£ME4 68t A dist 6)53.08
58I EEMKFE-HE(C 13W LA 72 14FiH EWL 2 10Kk Fa 3 17988 F0H 1)53.24
6[31EIN K- BB (1406 B4 14UNME-5 4 14478 H X3 1484 #2 #2)53. 71
T3 R % B (ITTOEE 32 H 2 1795/ Bk 2 1808 A£ 2 178/ = RFH 2)54.28
8 [TIHRERER A BR (193/h 8 A F 4 1991 FEZS 3 19288 4F F5H 4 202Kk %4 1)54.74

FA—TUEF 4x400mR R Q%)

(1#8]

1BINERA RS HOt (10908 W 18 6 1081 526 1161 H #2233 118E/IDOL A 3)4:11.69
2 [TIRERRERRE HR (20350 % & 1 20075 153 2 202K FE #2731 198 MM - 4 ) 4:21.79
SleJHEEMRT-HEC 16mEE LA 1 1730 #HE 1 1487H S 2 133 LR~ +2)4:30.70
4 [3TFRERRERRF R (205K 111 #E 7 2 20475 1 #0563 208/Ak 1647 1 2106878 AC¢ 1)4:37.30
5 [4J4EHURZ: - o3I (27548 E £ 2 1 254705 MESE 1 249764 524y 3 2500€3% AL 3)4:43.71

(248]

TGIHESS K27 - FEIS ( 68fA Mk 6 TIRE Emcd TORMMZEHFES T2HM FE4)4:22.11
2[41EM R ZF - KB (14828 1 # 2 14UNRIZ2 2 4 146187 BiAE 3 14210 fK B4 4 )4:30. 09
S[3IME AN R 5 - B (129A R ERE 3 13T ML 3 13248k Al 3 13003k 707 3)4:42.29
4 [TTBRERL RS UL (2620~ ) 365 2 25945 PN JBRHTS 3 2604775 #iiAk 2 258K /K 451 3)4:49.33
5[6] HIRER RS- ik (104840 B2z 2 1015 HEA 5 3 103788 5E0E 3 1066 1 =271 2)4:52. 57

4> O
s =3

T AR &R 25« B
2 FRERERRT R
45N R K2
S BIEERKRT -HE
6 HREERERKE HR
R PN 7Y
8 JEELRE - 1Rl

nZF EEbk R
1012] 169t W& 2 (BEKF 7Kk 1m61
2[10] 113%& /& A3 (ERERF HE) 1mbO
3[ 1] 1898k & & & 1 GUEKZE AN 1mdd
A[ 9] 22710 X 2 GIRERAEHR) 1md0
50 8] 654 FE3X2 (GEERAZREE) 1m35
6[ 3] 20940 B B4 B 1 (RiEEcERLEE0) 1m30
6[ 6] 105/h8 K12 (BREBKEHA 1m30
8[ 7] 93RAK T E 5 (BRERLENA 1m30
9[ 5] 159 ] A 2k % 4 CGURKZ 7K 1m25
100 2] 29fRE FoE 1 RRERKEHK) 1m25
11 4] 220 /% 1 20 56 2 GRELTERAE D) 1m20
[11] 76 B HEZFT 3 HEXZ HE) Ri5

&+ ERBE RE

1[26] 1694 Yt W& 2 (BUEKRT K 5md6 +4.0 2258 5m43 +1.0

ARARPRABERRAAEAAS~NS
AR WWWN N =
<
~
o



2[29]
3[27]
41 3]
5[28]
6[17]
7[25]
8[21]
9[22]
10 [23]
11[24]
12[11]
13[18]
13[19]
15[20]
16 [14]
17[16]
18[ 7]
19 [15]
20 [10]
21 [ 8]
22 [ 9]
23[ 2]
24 1]
25[13]

[ 4]

[ 5]

[ 6]

[12]

1[15]
2[14]
3[13]
41 5]
5[12]
6[ 1]
7[10]
8[ 9]
9[11]
10[ 8]
1[0 7]
12[ 3]
13[ 2]
14 6]
15[ 4]

229 N (L B B 2 (AR B
164 7 £ % 7% 3 GRS
3017% hoAv—1 (RREBKEHR)
22554% E &6 G RE 1R
263 14 % 2 (MaEHATE 1)
134 K Eﬂ % £ 2 (BRKE 1K)
253 L3 v 1 (KERZWEI)
10 R % I Ay 3 (REERKFHE)
NTHA 33 (ERERTFK)
231 G 1 v R 2 GRARE HR)
196 #6 f5  JBRFI) 4 CREEBERAT 3
193 /il & 28 4 GUEHERRE D)
345 H HRAE 2 (HBEEELAETA)
152 L7 $E 3§ 3 ()7 /1RRE )
104 478 7 25 2 (BRERKZiK)
70 A AR EESE 5 (BB KFE-FEE)
65 4 1 JE 3 2 (GEERKER-5T)
214 1| 4L 3 5 (RRkFERKEHR)
148 & 12 E 2 (BMKFE-EH)
1194k B8 2453 (ERERS HR)
62 %5 EE 1 2 (ERRATR-BE)
136 1= ik "‘3% 2 (BRKSF B
86 fiih 5L FLfk 1 (GEEARE-IABAN)
139 E32~x + 2 (BEERAE5E)

omd5 +1.
om42 +0.
om28 +1.
oml7 +4.
4m84 +1.

4m81 +3.

4m66 0.
4m63 +2.
4md2 +1.

4m50 +3.

4dmdd +1.
4md0 +2.
4md0 +1.
4m38 +1.

4m37 +3.
4m30 +2.

4m28 +1.

4m19 +4.
3m91 +2.

3m78 +2.
3m62 +4.
3m49 +1.

3md3 +2.

2m71 +0.

43 = W g £ 4 GUURRRE 100 Ri5
28 & A& K2 GUERKE IR Ri5
221 4 3 B A1 GREFERAE ) Ri5
1447 & = &3 (RIRE-RY) Ri5

ZF fadix[4. Okgl R

156 %5 T =401 5 (R KZ K
61 A = L we 3 (EERLERAE)
94th M5 (HRERKZ k)
241 THAFI1FE 2 (RAERLE L)
138 #F &6 (EMKF EH)

T2 & 3 GEERAEEE)
126 % A B A 2 (EREKTHR)
121 1o E A3 (ERERTE HR)
212 AL ZS A 6 (GIRAFERAE TH)
155 [T ¥ 5% B 5 (B R K
15k & 189 2 GEERAEHE)
46 it LHE 3 GlERkE R
21 [ HAREE 1 3 GAERRE R
215K B 3 (RRArERAE EN)
233 m B E K 2 (RHRRE: B

i+ FEER (1. Okg]
16 6 L3572 1 GERRKS-4%) 3050
2016] 1564 F 347 5 (A #50) 20m2]
264 5 1 %7 1 (FAERKSEE) 29m03

61 48[ 0 3 (WG XML AE) 24T
126 48 A {85 4 2 (IR K% 570 24m66

1[18]

3[17]
4111]
5[10]

9md54
Ima7
8m56
8m21
m97
Tmb9
m34
Tm28
Tm08
6m58
6m13
6m10
6m03
5m23
4m68

iR B

\I\IQ)@OOU'ICDCAD—*U'II\DOOOOOO—*OU'I\I—*CDO—*

N

B>

B>

N

5>

t? b>

/A

b)

>

/A

2 5m08 +1.6

&4

DECERTE L

onh

8 4md9 +1.5

=2 4m32 +1.5

2 4m10 +0.4

m07 +1.3
mi3 +1.7

r}ﬂ rzl

1 4
1 4

;’J 3m98 +2.0

~

an
B
b1
E.'i
Rt
ot
|

2 3mdd +1.1

£% 3m34 +1.9



6[ 8]
710 7]
8[14]
9[15]
10[12]
11 [13]
12[ 2]
13[ 9]
141 6]
15[ 3]
16 [ 4]
17 1]
18 [ 5]

MEF Y% [600g] RE

1[24]
2[18]
3[22]
4[23]
5[20]
6[21]
71[16]
8[17]
9[ 7]
10 [15]
11[12]
12[14]
13[19]
14[11]
15[13]
16 [10]
171 9]
18 [ 8]
19 6]
20[ 3]
21[ 2]
22[ 1]
23 [ 4]

[ 5]

12111 & A3 (ERERS 500 23mT1
6 T E LT 4 (BERRKE HE) 23m63
155 [ 8 5 U5 (BLBORS: - K90 23m34
94 h Jt M5 (BREMKE k) 22mb8
19 Y& 2 WACHE 5 (RERERE-Iz#31) 22m12
138 & B & 6 (BMA%-KY)21mb1
143 ks R 4 (BMA%E-RE) 20mT79
69 ik 1% A AC 5 (FERRE-HES) 20m11
216 % 0 {3 Gk FERAZEH) 15m43
237 1 itk 4 (FAERAE I 14m40
198 W1 & 4 GURERAE I 12m79
87 22T AR 1 (BERRE-M2#2)) 12m49
207 % ¥y g 3 GIREFERRE 1) 12m34

156 7= T LA+ 5 (UERF K90 36mb9
228 1= g B 3 CRAUKRE: HUR) 33m05
264 = 16 2 1 (RERRE ) 32m48
142 AR IS B 4 (BINRE- KY) 32md3
94 h Jt M5 (BREMKE i) 31m82
96 /)NH L E21E 4 (BIRERKS i) 29m86
155 [ ¥ 2 705 (FUBRF - K90 29mb5
121100 &3 (ERERS 500 28mI1
126 R A A Ay 2 (ERERFE 500 2Tm11
61 R S me 3 (WEERKEFLSHE) 25m74
69 i & A4 AC 5 (BES K- #ES) 25m67
SHEA B 321 (EREREILRE i) 25m37
81/ % 4 GEEAk-0z#2)) 24m69
212 it Z8 AR 6 (RkFERLE §R) 23m99
143 F s R 4 (BMAE- KY) 23m83
64 2 5 hAC 2 (MEEHAZRA5) 15m81
2275 J 4% 3 CGRAUKR:: HUR) 15mb8
216 g% ) {3 GUkFERAE ) 14m03
247 Hii 1 AL A 2 (RARERAEED) 13m84
18R 2 fE4 4 GUERKE RH) 13m43
15 K& 1K 2 (GERRAS 5E) 12m87
THE & 63 EERKEHE) 11mdd
4t A3 1 (RRERAE KR 9mb1
42 [ By K Z 3 (RRERKE R Ri5

A—TUBF 400mH R Q)

(18]
1[ 6]
21[ 5]

50. 63
51.02

(248]
1[ 6]
21 5]

50. 63
51.02



